
!     WARNING: This product can expose you to Titanium Dioxide,
which is known to the State of California to cause cancer.
For more information go to www.p65warnings.ca.gov.

E

860 - Starter's Rostrum

www.gillathletics.com

INST860
6/20/2018

800-637-3090

All rights reserved. Page 1 of 3
Copyright 2017 by Gill Athletics.  

Customer Assembly Instructions



#     Part # Description QTY

86010 STARTERS ROSTRUM STEP; SINGLE 3

86045 STARTERS RSTRUM FRONT BRACE; ASSEMBLY 1

HDWE011250E0 Hex Bolt 3/8-16 x 1.25   14

4 HDWE050040E0 3/8" Flatwasher 28

5 M1235 3/8"-16 thin nylock hex nut 14

PLTE00569 STARTERS ROSTRUM SIDE PLATE LEFT; ARCH GRAY 1

PLTE00570 STARTERS ROSTRUM SIDE PLATE LEFT; ARCH. GRAY 1

6

7

1

2

3

6

7

860 - Starter's Rostrum

www.gillathletics.com

INST860
6/20/2018

800-637-3090

All rights reserved. Page 2 of 3
Copyright 2017 by Gill Athletics.  

Customer Assembly Instructions

2

4

4

5

3

4

5
4

3

1



#     Part # Description QTY.

86035 STARTERS ROSTRUM HANDLE; ASSEMBLY 1-

2 HDWE012060E0 Hex Bolt 3/8-16 x 2 2

HDWE04006000 LOCKWASHER - 5/8" 2

4 HDWE050040E0 3/8" Flatwasher 4

5 M1235 3/8"-16 thin nylock hex nut 2

6 M2292 5/8-11 Jam Nut, Zinc Plated 2

7 M2293 Flat Washer 5/8 6

M2297 5/8-11 X 4 1/2 BOLT GR 5 HCS Z 2

9 M714 10 X 2.75 WHEEL OFFSET STL HUB 2

1

3

8

INST860

860 - Starter's Rostrum

6/20/2018

800-637-3090

Page 3 of 3

www.gillathletics.com

All rights reserved.
Copyright 2017 by Gill Athletics.  

Customer Assembly Instructions

1

6

8

7

9

7

3

7

4

2

4

5


